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Linear Inequations Ex 15.5 Q1

We have,
X+2¢y -y =0
= X+y =0

Converting the given inequation into equation we obtain, x +y =0,
Putting v =0, we getx =0
Putting x = 0, we gety =0
Putting x = =, we gety = -3

Wie plot these points and join them by a thick line. This lines divider the xy —plane in two parts.
To determine the region repressnted by the given ineguality consider the ineguality.

S0, the region containing the origin is represented by the given inegation as show below:
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This region represents the solution setof the given inequations,

Linear Inequations Ex 15.5 Q2

We have,
H+2y 26

Converting the inequation into equation, we obtain, x + 2y = 6.
PUing y =0, we getx =6
PUingx =0, we get 2y =6 = y =3

Wie plot these points and join them by a thick ling. This lines divider the xy —plane in two parts,
To determine the region represented by the given inequality consider the point 00, 0).

Putingx =0 andy =0in i) we get 026
Itis not possible,

Clearly, 0{0,0) does not satisfies the inequality,

S0, the region repressnted by the given ineguation is the shaded region shown below:;
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Linear Inequations Ex 15.5 Q3
We have,
X+2200 i)

Zonverting the inequation into equation, we obtain, x = -2 Clearly, itis aline
parallel to y-axis. Thisline divides the xy — plane in two parts, One part on the
LHS of x = -2 and the other on its RHS.

PuUtting x = 0 in the inequation(i), we get2z=0
we find that the point{0,0) satisfies the inequality. So, the region represented by
the given inequation is the shaded region shown below:
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We have
x—2y<0

Converting the insquation info eqaution, we obtain,
x <2y

To determine the region represented by the given inequality consider the pointa(0.0)
Putting x = 0 and y =0in equation we have

0<0
It & not possibvle Clearly o(0,0)does not satisfy the nsquality:

So, the region represented by the given insquation is the shadd region shown below:

Linear Inequations Ex 15.5 Q5

We have,
“EX 2V 26 (i}

Converting the given inequationdnto equation, we obtain, - 3x + 2y = &,

PUtting x = 0, we gety =g=3

PUutting y =0, we getx = _—; =-2

we plot these points and join them by a thick line. This line meets x-axis at{-2, 0)

and y-axs atf0,3). This line divides the xy-plan into two parts. To determine the

region represented by the given inequality, consider the point 0f0,0).

Puttingx = 0 and ¥ =0 in the inequaton(i), we get, 026

Cleary, {0,0) satisfies the inequality. So the region containing the orgin is represented

by the given inequation as shown below,
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Linear Inequations Ex 15.5 Q6
We have,

Conyerting the given inequationinto equation, we obtain, x =5- 4y,
Puting y =0, we getx =185

PUttng x =0, we gety =§=2

S0, this line meets x-axis at {8,0) and y-axs at {0,2).

we plot these points and join them by a thick line, This line divides the xy-plane

in two parts, To determine the region represented the given inequality consider the
point 0{0,0].

Puttingx = 0 and y =0 in the inequation (), we get0<8

Clearly, [0,0) satisfies the inequality. so, the region containing the origin is represented
by the given inequation as shown below:
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Linear Inequations Ex 15.5 Q7
We have,
0£2% -5y +10. i, (i

Converting the given inequation into equation, we abtain, 2% —5y.4+10=10,
Puting x =0, we gety =%= 2

PULiNg y =0, we getx = % =-5

S0, this line meets x-axis at {-5,0) and y-axis at (0,2).

we plot these points and join them by a thick line, This line divides the xy-plane

in two parts, To determine the region represented by the given inequality consider the
point D{DJD}.

Puttingx = 0 and y =0 in the inequation (), we get0=<10

Clearly, {0,0) satisfies the inequality’ so, the region containing the origin is represented
by the given inequation as shown below:
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Linear Inequations Ex 15.5 Q8




Converting the given ineguation into equation, we obtain, 3y = 6 - 2x.

Putting » = 0, we gety =%=2

PUtting ¥ =0, we getx = g =3z

So, this line meets x-axis at {3,0) and y-axis at {0,2).
we plot these points and join them by a thidk line, This line divides the xy-plane
in two parts. To determine the region represented by the given inequality consider the

point 0{0,0].
Puttingx = 0 and y =0 in the inequation (i}, we get 026 itis not possible,

+ we find that the point {0,0) does not satisfy the equation 3y = 6 - 2,

S0, the region represented by the given equation is shaded region shown below:
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Linear Inequations Ex 15.5 Q9
We have,

Converting the given inequation into equation, we obtain, v = 2x -8,
PUtting x = 0, we gety = -8

PUutting y =0, we getx = g =<

S0, this line meets x-axis at (4,0) and y-axis at (0, -8).

we plot these points and join them by a line. This line divides the xy-plane

in two parts, To determine the region represented by the given inequality consider the
point 0{0,0).

Puttingx = 0 and y =0 in the inequation (i}, we get 0= -8

Cleady, (0,0) safisfies the inequality the region containing the origin is represented by
the givenineguation as show bel o
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Linear Inequations Ex 15.5 Q10
We have,

5 -2y Ex+¥ -8
= O - LY+ 2y -0

Converting the given inequation into equation, we obtain, 2y =3y -8

PULtiNg y = 0, e getx = g _ 4

Putting x = 0, we gety = g

So, this line meets x-axis at (-4,0) and y-axisat (DJ g}

we plot these points and join them by a line, This line divides the xy-plane
in two parts, To determine the region represented by the given inequality condder the
point D[D,D].

Puttingx = 0 and ¥ =0 in the ineguation [l} we get O <-8 It is not possible,

we find that the peint (0,0) does not satisfy the inequation 2x =3y - 8. s0, the region
represented by the given equation is the shaded region.
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